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0 0 0 0

0 0 0 0

from Evans & Skalak

C

r l r lT K
r l r l

r l r lT K
r l r l

θ μ

μ

⎫⎛ ⎞ ⎛ ⎞Δ Δ Δ Δ
= + + − ⎪⎜ ⎟ ⎜ ⎟

⎝ ⎠ ⎝ ⎠⎪
⎬

⎛ ⎞ ⎛ ⎞Δ Δ Δ Δ ⎪= + − −⎜ ⎟ ⎜ ⎟⎪⎝ ⎠ ⎝ ⎠⎭

 

Laplace Law / 2CT R P T R Pθ = Δ = Δ implies 

0

0

/
/ / 2

r rK K R P
l lK K R P

μ μ
μ μ

Δ+ − Δ⎡ ⎤⎡ ⎤ ⎡ ⎤
=⎢ ⎥⎢ ⎥ ⎢ ⎥Δ− + Δ⎣ ⎦ ⎣ ⎦⎣ ⎦

 

Or 
( )

( ) ( )
0

0

3/ 2
3/ 18 8

Kr r K KR P R P
Kl l K KK K

μμ μ
μμ μμ μ

+⎡ ⎤Δ + − − ⎡ ⎤⎡ ⎤ ⎡ ⎤Δ Δ
= =⎢ ⎥ ⎢ ⎥⎢ ⎥ ⎢ ⎥ − −Δ − − + ⎣ ⎦⎣ ⎦ ⎣ ⎦⎣ ⎦

 

 
Derivation of Eq. (6) 
Eq. (5) implies 
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Which is the osmotically active fraction of intracellular water in initial state i.e. 
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The first term is the volume involved in the osmotic transport; the second term is the true 
volume; the third term is the fraction of initial volume not involved in osmotic transport. 
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Derivation of Eq. (7) 
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Derivation of Eqs. (9) & (10) 
From (6) 
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Eqs. (2) & (3) imply 
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where the first term is from Eq. (1) and the second one from (*). Thus 
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(Eq. (9) had a typographical error) 


